MA105 05 Second Examination B  March 30, 2004

Part I:  Computer use required

1. (20) Open Excel, and open ForExam2 in the Mathserv/users/Gold/Public/MA105 folder.  Click on the tab for the sheet “Version B”.  You will find two sets of data, one for the number of vinyl singles sold by year from 1987 through 1995, the other for auto workers hourly wages from 1987 through 1994.  Graph each function using Scatterplot, label the axes appropriately (it’s up to you whether you want to represent each as “years since 1987” by inserting a column, or use the data as is), and decide which one is exponential and which is linear.  Then add the correct kind of Trendline to your graph.
Print out and hand in this part and I’ll give you the rest of the exam.
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SHOW  ALL  WORK

Part II:  no computer or graphing calculator

2. (10) Determine which of the following functions represents exponential growth, find its growth factor; which represents exponential decay, find its decay factor; and which isn’t exponential at all:

(a) f(x) = 7.6x                                    (b) g(x) = 0.3x 

(c) h(x) = x5 
3. (15) Jason, because he only has a high school diploma, but turns out to be a better worker, has an annual salary of SJ = $20,000 + $1000n, n years after he is hired; George, with a college degree but a lower work ethic, has an annual salary of SG = $25,000 + $700n.  Assuming they’re hired at the same time, how many years does it take for Jim’s salary to catch up to Jason’s?

4. (10) My current Verizon plan charges me $9.95 for basic service, plus 5 cents per message unit.  Write an equation to describe my total bill B if I have used m message units.
5. (20) One of the tables of data below represents a linear function; the other represents an exponential function.  Explain how you know which is which, and find the equation of each function.

(a) What kind of function is it?                         What is its equation? 
	t
	0
	2
	4
	6
	8

	f(t)
	3
	6
	12
	24
	48


Show work here:

 (b) What kind of function is it?                         What is its equation? 

	t
	0
	2
	4
	6
	8

	f(t)
	3
	6
	9
	12
	15


Show work here:

6. (15) The graph below shows four functions.  Match each function with its graph’s letter:  f(x) = 20.3x is         ; g(x) = 5.4x is             ; h(x) = 20.(0.3)x  is      ;  

j(x) =5.(0.25)x is
[image: image1.emf]
7. A flat tax of 2.2% collects a tax of Tf = 0.022x dollars for an income of x dollars per year.  A graduated tax plan collects a tax of 
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(a)(5) With the graduated tax, what percent do you pay on the income over $20,000? 

(b)(10) Graph Tg, for x from 0 to 50,000.

(c)(10) At what income would you pay the same tax under both plans?
_1140551221.unknown

